
SCHEDA RICAMBIO: 101810140

Codice prodotto: 101810140 -  Prodotto: CX 40-125/3



Rif. Codice Descrizione Q.tà

1 7108472 COPRIVENTOLA MER H 100 AB 1

2 1010240 ANELLO SEEGER UNI7435 D.28 1

3 7108477 VENTOLA MER H 100 AB 1

4 7108595 ANELLO TENUTA-CORTECO 30X44X7 1

5 30931 VTE UNI5739 M8X1,25X40 8.8 ZN 4

6 7108485 SCUDO GHISA MER H 100 AB 1

7 1000510 ANELLO COMPENS.LMKAS 62 D62 1

8 7108496 GR.CA.ST.MER H100 KW3 B5 230400 AB 1

9 1420640 CUSC.SF. 6206ZZ  30X62X16 C3 1

10 7111596 GR.ALB.ROT.C/C CS 32-160A FNT. 1

11 1100472 LING.AD INC.UNI6604-A5X5X20 H9 INOX 1

12 1420660 CUSC.SF. 6306ZZ  30X72X19 C3 1

13 30861 VTE UNI5739 M8X1,25X15 ZN 1

14 7301083 ROND.PIA.UNI6592 D8,4X17X1,6 ZN 2

15 7110463 PIEDINO SOSTEGNO 2C 32/190B H=65 1

16 30931 VTE UNI5739 M8X1,25X40 8.8 ZN 3

17 780070 ROND.ELAST.GROWER UNI1751 D8 8

18 650091 DADO ES.NORM.UNI 5588 M.8 ZN 7

19 30891 VTE UNI5739 M8X1,25X25 8.8 ZN 1

20 7115535 SUPPORTO MOTORE - MOTOR SUPPORT 1

21 7109899 GUARN.PIATTA GOMMA TELATA 18X34X4 1

22 7115647 GRIGLIA PROTEZIONE INOX D.81,5X72 CX 1

23 7115580 FLANGIA PORT.INOX D.249 CX32-200/3  N/CE 1

24 3081099 TENUTA FISSA   FN 18X30,9X8 1

25 3080599 TENUTA ROTANTE FN 18 1

26 7115643 ANELLO OR SPEC. T4  DI227      CX32-200 1

27 7115703 DISTANZIALE INOX  CX 18X24X7 1

28 7115597 GIRANTE INOX D.166  CX32-200/3 1

29 830172 ROND.PIA.UNI6592 D12X24X2,5 IN 1

30 7115695 DADO ES.CIECO CX M12X1,5 INOX 1

31 7115571 ANELLO RASAMENTO - NECK RING 1

32 650092 DADO ES.NORM.UNI 5588 M.10 INOX 8

33 7115623 CORPO POMPA INOX   CX32-200 1

34 830132 ROND.PIA.UNI6592 D10,5X18X1,6/2  IN 16

35 161232 VTCEI UNI5931 M8X30 INOX 8

SCHEDA RICAMBIO: 101810140

Codice prodotto: 101810140 -  Prodotto: CX 40-125/3




